Analyzing Graphs of Rational Functions (#3)
Name:_________________________Hr:____
Chapter 8 Notes (Section 8.2 & 8.3)

Honors Algebra 2
Warm Up – Graph each function.  After, list the domain, range and end behavior.
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In today’s lesson we will be analyzing graphs and equations that model real world applications.  Be sure to read (and re-read when necessary) to analyze the problem carefully.  Be sure to use your calculator to help analyze graphs and reach conclusions.  Make sure your answers make sense and seem reasonable.
Ex. 1]  A business is studying the cost to remove a pollutant from the ground at its site.  

The function 
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models the estimated cost y (in thousands of dollars) to remove x percent (expressed as a decimal) of the pollutant.

a. Graph the function to the right. Label each axis.
b. Describe a reasonable domain and range.

c. How much does it cost to remove 20% of the pollutant?

d. How much does it cost to remove 40% of the pollutant?

e. How much does it cost to remove 80% of the pollutant?

f. Does doubling the percent of the pollutant removed double the cost?  Explain.

Ex. 2]  Will air temperature make a difference in how much time it takes for sound to travel? 

Do you think sound travels faster through cooler air, warmer air or is there no big difference?  Explain your reasoning.

 Use the internet to answer this question.  Did your research surprise you?
It is determined that the time t (in seconds) it takes for sound to travel 1 kilometer can be modeled by:
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 EMBED Equation.3  [image: image5.wmf]where T is the air temperature (in degrees Celsius).
a. What does t represent?    What does T represent?

b. Describe a reasonable domain and range for this model.

c. Is the equation provided an example of a rational function?  Explain.

d. Graph the given function (label each axis and provide a scale).

e. How long does it take for sound to travel 1 kilometer when the air temperature is 
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f. How could you use this information to determine how long it would take to travel 5 kilometers?
g. Suppose you are 1 kilometer from a lightning strike.  It takes 3 seconds to hear the thunder, use your model to estimate the air temperature.

Analyzing Graphs of Rational Functions (#4)
Name:_________________________Hr:____

Honors Algebra 2 Practice

Chapter 8 (Section 8.2 & 8.3)

1. From 1993 to 2002, the number n (in billions) of shares of stock sold on the New York Stock Exchange can be modeled by the function below, where t is the number of years since 1993.
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a. Graph the model.  Label each axis.  

b. Describe a reasonable domain and range.

c. Describe the general trends shown by the graph.

d. How many shares of stock sold on the NY stock exchange at the start of 1993?

e. Estimate the year when the number of shares of stock sold was first greater than 100 billion.

f. Would this be a good model for the current year?  Why or why not?
2. Lauren plays basketball for the Bulldogs.  So far this season, she has made 6 out of 10 free throws.  She is determined to improve her free throw percentage.  If she can make x consecutive free throws, her free throw percentage can be determined using 
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a. Graph the function.  Label each axis.

b. What part of the graph is meaningful in the context of this problem.

c. Describe the meaning of the y-intercept.

d. What is the end behavior?

e. What is the equation of the horizontal asymptote?

f. Is it possible for Lauren to achieve a free throw percentage of 100%?  Explain.

3. Graph each of the following rational functions without the use of a calculator.  Be sure to indicate where asymptotes occur, domain, range, and end behavior.
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